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101|R#A7 L 552 234 318 Kg |EE 1,188 216| 5 1,944 540
102|357 L 1,598 1,598 Kg S - BIE 3,791 579
111|&EEF £ 276 42 234 Kg |ERE 1,188 378|EIEE - BAN 1,836 108
113|RAV S 16 3 13| Kg |EE 2,376 540| & 2,700 1,620
114|B5EFE 335 33 302 Kg |ERE 1,296 378|EEIRE - BE 2,592 216
15[ 1= 2 1 1| Keg |EE 2,592 FfE 3,024
117[1E 472 102 370 Kg |EE 1,944 432| 3,780 324
121|hbixE 71 65 6| Keg |EE 756 216|fE 864
134[#= = 477 261 216| Kg |EE 2,300 1,620|% 1| 2,484 1,080
140(5 I 6 6| Keg b 22,500 10,800
147|E2 O 187 187| Kg |EE 3,780 3,775 |88 - i 12,960 5,000
158|&TEN A IEH 432 150 282| Kg |ER 1,188 1,080|& R & 1,944 108
203|/hd L 332 332| Kg =l 378 77
205|3L8 L 603 603| Kg FfE 720 589
206| = 1F 438 184 254| Kg |EE 216 = 720 384
208|m>% 384 384| Kg L 1,404 540
2094 B & LA 5 5 Kg [wiO 1,382
210{1F AL 68 68 Kg [iO 4,590 1,215
212|&5E.3 Y 206 206| Kg T - FiE 2,484 1,450
251|< %<3 48 48| Kg =] 3,780
252| VA EECH 108 108 Kg |7 108
254|E b ECH 631 631| Kg L 2,408 1,220
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305[£Aah 0 7 7l Kg . 5,940 2,700
306|L e k) 25 25| Kg RI& 864 821
315|7: B9 6 61 61 Kg = I 3,132 3,024
319|2h o 190 190 Kg KER 1,836 891
332|= 13 WA =EF 111 111] Kg Bl = 2,268 2,160
351(4EH 30 10 20| Kg [3&E 2,808 FEE 3,780

35411FxE<Y 59 50 9l Kg [FE 1,296 = 2,700 1,404
355(mp Y 280 10 270 Kg [= 1,296 1,188|=40 - HE 1,620 600
356(L L& 55 55| Kg SER 1,512 972
357|7RE 33 33 Kg FEE 1,728 648
358|KE 10 10| Kg FAN 1,728

401|H W 76 5 71l Kg |H&8 1,620 wE 2,376 1,404
4025 E 35 35 Kg =9E 8,641 4,320
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512| A& AL 49 49| Kg b 1,390 950
523| A EARAT 2 O 74 74| Kg =] 4,608 1,188
54| ARE & 2V 368 368| Kg hE 1,782 1,242
5h4|E X BA AR 40 40| Kg £[#=2 900 450
558| 10 10| Kg b 1,242
560|487 2 116 116 Kg =] 2,500 1,850
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70110 BA 4,177 2,157 1,420 Kg [EE 5,606 2,538 (2% 2,122 1,134
71019 2 ®HA0F 40 401 Kg =N 1,350 1,260
BlBEFALANIN 9 9] Kg FJE 960
755(Fd L 246 246 Kg E=AES 711 710
76l|1b Y AEE 46 461 Kg FJE 3,471 2,350
01 [IBAL = 1T 186 186| Kg ¥ -mA 1,728 540
802|1 x| 30 301 Kg mE 1,350 1,296
80413 10 10 Kg blo ] 3,240
805 = 1E 204 2041 Kg bF 972 743
810|FAKXF 21 21 Kg li=1 2,970 2,638
815|—9 A ZE 91 91 Kg mE 1,195 144
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